Solutions for In-Class Problems 9 for Wednesday, February 21
These problems are from Pre-Class Problems 9.
You can go to the solution for each problem by clicking on the problem letter or problem number.

1.
Determine if the graph of the following equations is symmetric with respect to the x-axis, y-axis, origin, or none of these.
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2.
Determine if the following functions are even, odd, or neither.
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, then find
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4.
Determine the interval(s) where the following functions are increasing and decreasing.  Determine the location and the value of any relative (local) maximum and minimum of the functions.
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5.
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SOLUTIONS:
1a.
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Back to Problem 1.
To check for symmetry with respect to the x-axis, replace y by 
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Solving for y:  
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The equations 
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 are NOT the same.  Thus, there is no symmetry with respect to the x-axis.

To check for symmetry with respect to the y-axis, replace x by 
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The equations 
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 ARE the same.  Thus, there is symmetry with respect to the y-axis.
To check for symmetry with respect to the origin, replace x by 
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Solving for y:  
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 are NOT the same.  Thus, there is no symmetry with respect to the origin.
Answer:  y-axis

1b.
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Back to Problem 1.
To check for symmetry with respect to the x-axis, replace y by 
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The equations 
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 ARE the same.  Thus, there is symmetry with respect to the x-axis.
To check for symmetry with respect to the y-axis, replace x by 
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 are NOT the same.  Thus, there is no symmetry with respect to the y-axis.
To check for symmetry with respect to the origin, replace x by 
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The equations 
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 are NOT the same.  Thus, there is no symmetry with respect to the origin.
Answer:  x-axis

1c.
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Back to Problem 1.
To check for symmetry with respect to the x-axis, replace y by 
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Solving for y:  
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To check for symmetry with respect to the y-axis, replace x by 
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The equations 
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 are NOT the same.  Thus, there is no symmetry with respect to the y-axis.

To check for symmetry with respect to the origin, replace x by 
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 and replace y by 
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Solving for y:  
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The equations 
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Answer:  origin
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Back to Problem 2.
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Answer:  Even

2b.
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Back to Problem 2.
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Answer:  Odd

3.
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Back to Problem 3.
3b.
To find 
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3c.
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Back to Problem 3.
4.
Determine the interval(s) where the following functions are increasing and decreasing.  Determine the location and the value of any relative maximum and minimum of the functions.
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Back to Problem 4.
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 Back to Problem 4.
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Back to Problem 5.
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Back to Problem 5.
5c.
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Back to Problem 5.
5d.
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Back to Problem 5.
6.
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Back to Problem 6.
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Back to Problem 6.
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Back to Problem 6.
6d.
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Back to Problem 6.
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